Math 10 Polynomials practice test

Name:_________________


1.  Identify the following as a i) monomial, ii) binomial or iii) trinomial. 
3x+2y   ________________


5x + 4x2 + 3  _________________

2.  Why is   3x2 + 2x-1 NOT a binomial? 
3.  State the constant(s) and coefficient(s) in each polynomial. 
Constant(s)
          Coefficient(s)

3x2+ 4


_________

__________

4x2+2y

_________

__________

Simplify the following polynomials:

4)  (7x + 11) – (3x – 2)




5)     (x2 – 4) + ( – x + 2) – (-3 - x) 
Simplify.  Then find the value of the polynomial when x=3 and y = - 2. 
6)     4 – 2 (3 – 4x + 5y)

Show the following expansion using both algebra tiles and a box model
7)    (x – 2) (x + 5)






Expand: 

8)    (2y-3) (4y- 5)




9)     (x+2)2








Factor each polynomial completely: 
10)      10y + 5y3




11)     3abc + 6ab2 – 9ac2
Factor the following into two binomials:  (you may need to simplify some before factoring) 

12)     x2 + 12x + 35




13)     x2 – 8x + 15

14)   x2  -  3x - 18




15)     5a2 – 55a + 50

16)      -5- 5a+ 9a + a2 -7 




17)    4x2 - 100y2
18)  What are ALL the possible integer values of b? 

x2 + (b)x + 12




20)  A square of side length x has 4cm added to its length and 8cm added to its width.  
The resulting total area is 117cm2.  Write an equation to represent the new area.  
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